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Fill in the blanks:
6. The peasants were compelled to grow crop which lead to the initiation of Indigo

movement. 1
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5. Modernisationis a systematicprocess in whichchangein one sphere leads to change inanother.
1

1

1
(b) Sanskritisation
(d) None

(a) Westernisation
(c) Both
WriteTruelFalse :

4. Dr.G.S.Ghuryecalled the tribal as "Girijan".

. ,1
(b) Poverty andweak economy
(d) Subsistence economy

The reason for indebtedness in rural society is :
(a) Development
(c) Self Sufficiency

3. Which of these is a cultural process of change:

2.
1

Multiple Choice Questions:
1. Traditional theory of caste is based upon the idea of :

(a) G.S.Ghurye (b) D.N.Majumdar
(c) LouisDumont (d) J.H.Hutton

IOxl=IOPart-A

032/ A in the box provided on the titleNote: (i) Youmust write the subject-codelpaper-code
page of your answer-book.

(ii) Make sure that the answer-book contains 30 pages (including title page) and are
properly serialed as soon as you receive it.

(iii) Questionls attempted after leaving blank pagels in the answer-book would not be
evaluated.

(iv) All questions are compulsory.
(v) Question-Paper is divided intofour PartsA, B, C andD. Question No.1 to 10 carry 1

mark each and their answer should be in one word only. Q. No. 11 to 20 carry
2 marks each and their answer should be in 20-25 words. Q. No. 21 to 26 carry
4 marks each and their answer should be in 40-45 words and are with internal choice.
Q. No. 27-32 carry 6 marks each and their answer should be in 100-150 words and
are with internal choice.
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(English Version)
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4
or

What do you mean by Revolutionary movement?

24. Explain Urbanisation and Industrialisation as responsible causes for modernisation. 4

4

4

4

4Write three features of rural society.

22. Explain caste as form of social stratification.

or

Discuss the Weberian view on the concept of class.

23. Describe the status of women in Indian society.

or

Write the economic classification of Indian Tribes. 4

or

Match the columns:

ColumnA ColumnB

8. The Mongoloid type Life styles of particular class 1

9. Brahmo Samaj Sir Herbert Risley 1

10. Mode ofliving Raja Rammohan Roy 1

Part-B lOx2=20

11. Caste Inequality. 2

12. Dominant caste. 2

13. Patriarchy. 2

14. Social Mobility. 2

15. Tribal Society. 2

16. Socialisation. 2

17. Individualism. 2

18. Endogamy. 2

19. Impairment. 2

20. Social Movement. 2

Part-C 6x4=24

21. . Land acquisition and Dam construction are causes of Displacement. Discuss. : 4

17. . is one of the main reasons for female foeticide.

( 7 )
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or
In what way legislation has played an important role in empowering the people with special
ability. 6

32. Discuss in detail the characteristics of globalisation. 6

or
What are the causes of domestic violence? Discuss. 6

31. Write the harmful effects of Alcoholism. 6

or
Write a note on social movement and its features. 6

or
What do you understand by caste? Explain the difference between caste and varna. 6

30. What is sanskritisation ? Explain its impacts. 6

29. Define caste. Explain its characteristics. 6

or
Write note on Radical and Liberal feminism. 6

28. What do you mean by class? Write about those classes which are found in urban India. 6

6
or

Define Rural society. Discuss various changes taking place in rural society.

27. What is deforestation ? What are the causes responsible for deforestation ?

4

6x6=36

6

or
Write the harmful effects of Drug Addiction.

Part-D

4

4

or
Discuss modernisation and Activity theory of Ageing.

26. Highlight two problems encountered by differently abled people.

425. Write down any two measures to combat female foeticide.

(8)
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